i , g (k+0)
8k +r:8+ s TS
RNR = (RNR™)

gt (k+0)

2(7'+s)/2
r—s©0,6 =

o(r+s)/2

2
dimR _ (2(r+s)/2> _ 22(r+s)/2 _ 2r+s

L5 o(r+s—1)/2
7“_5© ’ olr+s—1)/2
2
dimR —9. (2(r+371)/2> —_9. 22(r+371)/2 —9. 2r+sfl _ 2r+s
9 4 = o(r+s—-2)/2
T—S@ ’ 2(T+s—2)/2
2
dimR — 4. (2(r+572)/2> 4. 22(T+372)/2 —4. 2r+572 _ 2r+s

2(T+S—1)/2 - 2(T+S_1)/2

r—s@©7= 2(7‘+571)/2R o(r+s—1)/2

2
dimR —9. (2(r+5—1)/2> —9. 22(7’+s—1)/2 —9. 27"+5—1 _ 27“+5

2(r+373)/2 2(7‘+573)/2

_ Avg
r—s03= 2<r+s—3>/zH S r+s—3)2

2
dimR —92.4. <2(T+s—3)/2) —9.4. 22(T+s—3)/2 —9.4. 2r+5—3 _ 2r+5

Clerc’s list

2°: 21R21
2’ 21C21
2! 21H21
2° QIHQIAVQIHQI
2% 22H22
2" C23



24 24
Avd
24R a 24R

spin factor representations

Rk - RkA\Rk - R%
Hk - Hk’\\ﬂk - HQk
R, — C, = H, add 3

H, =Gy 2 Ry,

neu

2 C, M,
©2
16 Cs M,
O
32 Cs M,



